H & 0l & AHS B Ml A

SADRZ
SO AIS 2tel
SHZA 28 EERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
=l 20,863,953 24,015,917 A3,151,964
= 1,916,137
[ 1,350,000
= 3,517,300
Ea 14,080,516
HEAH 2k 8,550,452 10,471,752 21,921,300
< 945,693
= 7,604,759
A Al et 53,402 1,851,752 1,798,350
S (AT ALYB HRFX 13,402 1,752 1,650
201 er23 | 8,050 6,000 2,050
01 At2teltl 7,050 5,000 2,050
O HAlZAl AlE2 82 e M&
4,500,000 *90/100 4,050
O NEEAE=NE =2EH 78 3,000
02 s3=ghl 1,000 1,000 0
O d=sdZAIE23 fFE2 1,000
202 04l 3,052 3,062
01 2LHoIH 3,062 3,062
O ST AIE EE0I
70,0002 +4H %123 %70/100 2,352
O =otoat 22E gt S0
20,0002 x5Z %102 %70/100 700
203 =] 2,300 2,700 2400
03 A=A =] 2,300 2,700 2400
O SNL20F AIBFT P2 2,300
SHEA S8R ASzdedls 40,000 40,000 0
308 XXM SO0l 40,000 40,000
07 AX R FE= 40,000 40,000
O SUlEAl dt8= NEZgE™I|I= 40,000
KSR AP =2 8,497,050 8,620,000 A122,950
= 945,693
o 7,551,357
A2 XeOHE AlY (EHASHIHRZE) 3,010,244 3,737,472 NT27,228
== 95,000
o 2,915,244
201 223 2,700 5,800 23,100
02 35244l 2,700 4,000 21,300
O Xl (AAh==AXt) 2,700
202 04l 2,352 2,940 588
01 =LHNHI 2,352 2,940 A\588
O XNEeE 30
70,0002 x4 %123 %70/100 2,352
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SA A Z

M AN A 2]

Rl XSIHE ARG = (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AR ESAIE SR S2AIS 157,806 0 157,806

= 90,693
= 67,113
401 AlZHIZ S 0HbI 157,806 0 157,806
= 90,693
[Ea 67,113
01 A28l 157,806 0 157,806
O & dES MEZHIAL 167,806
s 90,693
s 67,113
SAHE A =T 164,000 3,656,784 A3,492,784
= 4,500
[Ea 169,500
SSHLAMSA =4 144,000 3,616,784 N3,472,784
SENHEMSEE 144,000 3,616,784 N3,472,784
401 Al HIZ S OHbI 144,000 3,614,600 A3,470,600
01 A28l 144,000 3,614,600 A3,470,600
O 2=z SEAIEE gAY 144,000
SO Al 2435 A 20,000 40,000 /20,000
= 4,500
s 15,500
SAEA H dyed =it 15,000 30,000 15,000
= 4,500
= 10,500
201 er=23| 5,660 12,252 26,592
= 1,698
[Ea 3,962
01 AtR2t2|HI 1,160 5,952 N4 TR
O Ol&D[2t 1 SNots dtsr2et & 1,160
s 348
s 812
03 A2 I 4,500 6,300 A1,800
O Ol&I| 2t SMol=s wstEst o 4,500
S 1,350
= 3,180
301 LEtE N = 1,840 2,748 908
= 552
o 1,288
4Bt 2as 1,840 2,748 2908
O Ol&D[2t1 SHots dtsr2et O 1,840
== 552
o 1,288
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SAT HAD 2
R SANLAIIEE
Chel: SASAl 243 =2 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 7,500 15,000 AT7,500
= 2,250
= 5,250
02 2IZHBYAIHE X 7,500 15,000 AT7,500
O OIdD |21} S Hctes NIAZE 243t
Ared 7,500
=S 2,250
s 5,250
SAIEAl 2493 XA 5,000 10,000 /5,000
307 212+01& 5,000 10,000 25,000
02 2B HAHE L 5,000 10,000 25,000
O OIMEAIZAl '22 &4FAE" =8 5,000
SIISAIEXIA 9,419,279 4,780,705 4,638,574
= 1,916,137
= 2,027,107
o 5,476,035
SEIIBAIZRIA 9,419,279 4,780,705 4,638,574
= 1,916,137
S 2,027,107
= 5,476,035
SHIIBAIE ZE A 3,299,533 1,771,908 1,527,625
= 312,000
o 2,987,533
201 er2 3| 20,742 16,806 3,936
01 AtR2telHl 11,910 11,910 0
O ARMM(SAMER) S)==2
32,4002 *25Z | 810
O FRMLH(SAER) 442
300, 0002 %252 X| 7,500
O SMMIBAlE 2X9 Al8R 3,600
2 ZZ2H| 8,832 4,8% 3,9%
O M&X 22l @123
24,0002« 123 x 1404 &= 4,032
O M=Kl 2| Ste=s
100,000 « 122 *40H 2 4,800
202 04l 2,352 2,352
01 SLHoIH 2,352 2,352
O JlgtxdE 30l
70,0002 x4 %122 %70/100 2,352
401 AIZHIX S0 3,276,439 1,752,750 1,523,689
= 312,000
o 2,964,439
01 A28l 3,264,4% 1,747,000 1,517,4%
O M=Kl RAE+ 40,000, 000%22] 80,000
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SAT HAD 2
M SYIIBAIEXIR
&l =YIIBAIEXIZ (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O shet dS4cte FHIAKY
694,996,000& *0.72/100 5,004
O U4 1,927,500,000& *0.36/100 6,939
S+ A 1,174,470 428,080 746,390
101 ©1AH| 149,470 178,080 A\28,610
04 JIZtN2Z2XNSE+ 149,470 178,080 /28,610
O M==Xl ME=ZHS (W= ML)
172,200 72| x 124 149,470
401 Al HIZL 201 325,000 250,000 75,000
01 Al&H| 322,743 248,035 74,708
s+=2 =Xl 273,278
=8 FlAd RAES 49,465
03 AlZ = THHI 2,257 1,965 292
O s=2 |z
273,278,000&+0.63/100 1,722
O sg& #clAd |2+
49,465,0002 *1.08/100 535
403 AXIEHMSAH=0lE 700,000 700,000
02 SISOt =2 A P E A I 700,000 700,000
O SHESAH 22l 25 W RAE* 700,000
SEE AZNLAE 371,000 352,000 19,000
401 AIEHIZL SR 0HYI 149,000 132,000 17,000
01 AlZ8| 149,000 132,000 17,000
O RXlots= AL & At= 2|
11,000,000 *9Z 99,000
O =88 tg2d =2+ 50,000
402 212t X201 & 222,000 220,000 2,000
01 QI X2 AL E R (KEHITHE) 222,000 220,000 2,000
O s=€238 e 3,500,000+52& 182,000
O 28238 e 1,000,000& *40& 40,000
2SS EHIAIE 479,700 528,717 A49,017
201 =3 16,700 20,632 A3,932
01 At2t2lt] 1,200 1,200 0
O It=2s 2= 224 U=
300,000 x4 1,200
2 s5=34l 15,500 19,432 A3,932
O Xt2Hd| (20 —DAXXL) 13,500
O I2s AN SHR=s 2,000
206 M=l 170,000 200,000 /30,000
01 MHZHI 170,000 200,000 230,000
O JI2s 2= e 170,000
401 AlZHIZ S0 293,000 308,085 A15,085
01 Al&H| 290,661 305,606 14,945
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A SHADHE
M sHI|BAIEXIE
chelr SIIBAIEXIR (St &)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
O JHzs & 198,570
O =S uH & 0l4 EItHS 44,519
28 2SS B+ 39,572
O Jtizs EZ =2 8,000
03 AIE =2 CHHI 2,339 2,479 2140
O JH=zs &X 198,570,000 *0.72/100 1,430
O =S uH & 0l4 SItHS
44,519,000 *1.08/100 481
O 2Hg Jigs B
39,572,0002*1.08/100 428
F2AE HESAL (M EAY) 2,089,001 1,700,000 389,001
= 1,664,000
= 425,001
401 AIEHIZL 28I 2,089,001 1,700,000 389,001
& 1,664,000
i 425,001
01 Al&Hl 2,081,507 1,693,901 387,606
O AT 22IAld IHEAIY = M&t 2,081,507
& 1,664,000
i 417,507
03 Al CHHI 7,4% 6,099 1,395
O Az 22IAE JHEAIY = M&t
2,081,507,000&*0.36/100 7,494
SHMAD|EAIE S21I6H MoisS7AIS 2,005,575 0 2,005,575
= 1,916,137
= 51,107
i 38,331
401 AIEHIZL 28I 2,005,575 0 2,005,575
= 1,916,137
= 51,107
= 38,331
01 AlEHI 2,005,575 0 2,005,575
O ZEM THAH=SFALS 1,477,494
= 1,454,273
i 23,221
O &#Jl2l E==02d Mo =AM 109,240
= 87,8%
= 18,834
i 2,511
O &IGHAI THOHS A 48,112
= 43,724
= 3,732
= 656
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2A:

E M

SAD
SYIISAIE XA

Chel: SI|BHAIE XIS EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
O ZSH Moi=E2ArS 54,773
= 53,965
= 808
O &E FAUE MolsP2AIY 315,956
= 276,280
& 28,541
= 11,135
ol & X2 3| 2,700,000 5,070,000 22,370,000
iy 1,350,000
T 540,000
[ 810,000
Mo I & X2 E Y| 2,700,000 5,070,000 A2,370,000
= 1,350,000
& 540,000
= 810,000
MoHRAS XS HYI(HHRASE M=K HHI) 2,700,000 5,070,000 22,370,000
s 1,350,000
= 540,000
= 810,000
401 AlEBIZ 200 400,000 300,000 100,000
= 200,000
= 80,000
= 120,000
01 AlEHI 400,000 300,000 100,000
O XI2IM THoHRE M=Kl EUIAS 400,000
iy 200,000
& 80,000
= 120,000
403 XX SHHMSKHE01A 2,300,000 4,770,000 A2,470,000
iy 1,150,000
T 460,000
= 690,000
02 SISO CHSER=2 X RIEFAIS I 2,300,000 4,770,000 A2,470,000
O MEHH T E M=K FHIAIS 100,000
ax 50,000
& 20,000
[ 30,000
O &&EZH MaHE M=Kl At 400,000
= 200,000
& 80,000
o 120,000
O ZSH MHHAE M=Kl EHIAIS 800,000
= 400,000
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2A:

X XH -
o=

SAD
Kol ?1 & Xl & H|

s Mo ?E X E EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 160,000
s 240,000
O Q&M Moll?E M=Kl SHIAI 600,000
= 300,000
< 120,000
= 180,000
O UM Moll?1e M=Kl SHIAI 400,000
= 200,000
< 80,000
= 120,000
SSASAME =T 1,764 1,764 0
SSAFXE 1,764 1,764 0
SSASAE RN 1,764 1,764 0
202 04| 1,764 1,764 0
01 =LHOHI 1,764 1,764 0
O S8d=8 &0l
70,0002 x3Zx12&+70/100 1,764
HY2LZHI(HAHE D) 28,458 34,912 N6,454
Jl=23H| 28,458 34,912 N\6,454
JI=23Hl 28,458 34,912 N6,454
201 ger=3| 13,518 17,104 A3,586
01 At 2|l 12,518 16,104 A3,586
O ArR2teld] 13,908, 0002 *90/100 12,518
2 S52g4l 1,000 1,000 0
O =323l 1,000
202 04| 11,340 13,608 N2,268
01 =LHA LI 11,340 13,608 N2,268
O =UoH 90,0002+ 15 #1228 %70/100 11,340
203 2=l 3,600 4,200 2600
MU FAZSLIFAI 3,600 4,200 A600
O gAi2Eg 2RF4|
300,000& * 122 3,600
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